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31) (212 −  39) × (36 −  93) + 112  = ? 

a) 12251   b) 17781  
c) 91641  d) 72361  
e) None of these 

 
32) (37.5 X 22 X 48) ÷ 24 - ? = 113  

a) 1234  b) 1144   
c) 1284  d) 1384   
e) 1674 

 
33) (47 + 47 + 47 + 47 + 47 + 47) X 5 X (47 + 47) X 6 ÷ (47 X 2) = 47 X ? 

a) 47 X 180 b) 47 X 90  
c) 90  d) None of these  
e) 124 

 
34) 2√3 X 3√8 X 2√27 X 2√2 = 24  X ? 

a) 18  b) 54   
c) 9  d) 27   
e) None of these 

 
35) 172 +  192+ ? = 212 +  152  

a) – 16  b) 0   
c) 32  d) 36   
e) 16 

 

36) 
11×6 +  16×11 + 111×16 + 116×21   = ? 

a) 321  b) 842   

c) 221  d) 2021   

e) None of these 
 
 
 
 

37) (5175 ÷ 23)12 +  (72 × 2)12 = (? )12 
a) 26  b) 29   
c) 729  d) 841    
e) None of these 

 
 
38) 641.23 – 228.48 – 124.21 = ? 

a) 378.54  b) 278.54  
c) 288.54   d) 298.54  
e) None of these 

 

39) √3+1√3−1 × 202 − 312 × 22 × 102  = ? X 10  

a) 30  b) 20   
c) 90  d) 120    
e) None of these 

 

40) √15 + √? = 332   
a) 12  b) 13   
c) 169  d) 144    
e) None of these 
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